
FIG. 1

FIG. 2

FOTO KIT TUTTO MONTATO

4

5

3

6

72

1

PESO MASSIMO CONSENTITO: 5 KG.
Maximum permitted load: 5 Kg.

La maniglia passeggero non è inclusa in questo kit. 
Passenger handle is not included in this kit.

Dopo aver già montato le maniglie passeggero ValterMoto 
Components, mediante le viti fornite (FIG.1, componente 6) fissare 
le staffe supporto (FIG.1, componenti 2 e 3).
Posizionare la piastra di supporto nella posizione desiderata 
tramite le viti fornite (FIG.1, componente 4).

After having pre-assembled ValterMoto Components passenger 
handles, use the supplied screw (FIG.1, component 6) to fix the 
supports (FIG.1, component 2 and 3).
Place the support bag plate in the chosen position using the 
screws supplied (FIG.1, component 4).

M8 x 16 VITE
M8 x 16 screw

M6 x 20 VITE
M6 x 20 screw

www.valtermoto.com

MV AGUSTA - BRUTALE 800 - da 2017 Cod. ALV05

ISTRUZIONI DI MONTAGGIO - Assembly indications

KIT PIASTRA SUPPORTO BORSA / Bag support kit

DESCRIPTION ENG Q.tà
BAG SUPPORT 1

PLATE SUPPORT- RIGHT 1
PLATE SUPPORT- LEFT 1

M6 X 20 TPSCE 4
M8 WASHER 4
M8 X 16 TBCE 4

SELF LOCKING FLANGED NUT M6 4


